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= 5 = 5.76 - 10’mm*
40-270% + 120 - 90° i
I, = v =7.29-10"mm

Iy = 9040 (=90 60) + 90 - 40 - (90 - —60) = —3.888 - 107mm*

Ans :
I, =5.76 - 10"mm* - I, =7.29- 10"mm* - I,, = —3.888 10’ mm*
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N+Qsinf=Wcos8 -+ (D)
ZFX=O
tan ;N = Wsin@ + Qcos @ -+ -+ - 2

(D (250
tan Qg (W cos 6 — Q sin) = Wsin6 + Q cos 6
tan Qs Wcos 6 — tan g Q sin@ = Wsin6 + Q cos 6
W(tan @, cos 8 — sin6) = Q(tan @ sin 6 + cos 6)
tan @, cos 0 —sin@
Q=w -
tan@,sin6 + cos 6
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0(0->0-0)
B(0 > 400 > 300)
D(300 - 0 - 300)
E(300-0-0)
sz = (300 — 0 > 0 — 400 > 0 — 300) = 300i — 400 — 300k
oo = (0—300>0—0-0—300) = —300i + 0j — 300k
o = (0—0>400—0> 300 — 0) = 0i + 400/ + 300k
Top = (300 =0 0—0 300 —0) = 300i + 0j + 300k
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. TBE 300i — 400/ — 300k _ _

F,=F X ——=70 X = 36.015i — 48.020j — 36.015k
|BE]| J(300)2 + (—400)2 + (—300)2

. oo —300i + 0j — 300k o

F, = Fy x —— =30 x = —21.213i + 0j — 21.213k
|DO| J(=300)2 +(0)2 + (—300)2

Fr=F, + F, = 14.802i — 48.020j — 57.228k(N)
0P+ &

MRO =T'OBXF1+T'0DXF2

i j k i j k
=l o 400 300 [+| 300 0 300
36.015 —48.020 —36.0151 1-21.213 0 -21.213

= (—14406i + 10804.5] — 14406k + 14406i) + (—6363.9j + 6363.9))
= 0i + 10804.5j — 14406k(N — mm)
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